SM2H 7.7 Quadrilaterals Day 2 Notes —
Classifying Quadrilaterals in the Coordinate Plane

Graph and label the quadrilateral

Decide whether the quadrilateral is a PARALLELOGRAM using one of the following tests:
1. slope formula: Find the slope of all four sides to see if opposite sides are parallel (same slope).
2. distance formula: Find the length of all four sides to see if opposite sides arc congruent.
3. midpoint formula: Find the midpoints of the diagonals to see if diagonals bisect each other. (If the

midpoints are the same, the diagonals bisect each other.)

If the quadrilateral is a parallelogram:
1. Decide whether the parallelogram is a RECTANGLE using one of the following tests:
a. Slope formula: See if consecutive sides are perpendicular (slopes are negative reciprocals—
opposite signs and fraction flipped upside down).
b. Distance formula: Find the length of both diagonals to see if they are congruent.
2. Decide whether the parallelogram is a RHOMBUS using one of the following tests:
a. Distance formula: Find the length of all four sides to sce if they are all congruent.

b. Slope formula: Find the slope of the diagonals to see if they are perpendicular (slopes are
negative reciprocals).

3. Decide whether the parallelogram is a SQUARE:
a, If the parallelogram is both a rhombus and a rectangle, then it is a square.

If the quadrilateral is not a parallelogram:
1. Decide whether the quadrilateral is aTRAPEZOID:
a. Slope Formula: Find the slope of all four sides to see if one pair of opposite sides is parallel

{same slope).
2. If the quadrilateral is a trapezoid, check to see whether it is ISOSCELES using one of the

following tests:
a. Distance Formula: Find the lengths of the non-parallel sides to see if they are congruent.

b. Distance Formula: Find the lengths of the diagonals to see if they are congruent.
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Decide whether the quadrilateral with vertices at A(—6.4), B(=3.1). C'(0.2). and D(-3.5) isa parallelogram.
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Decide whether the quadrilateral with vertices at 4(2,2), B(5.4). C(8,1). and D(2.- 3] is a parallclogram.

Graph and label the quadrilateral
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Method 2: Distance Formula

Method 1: Slope Formula
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Method 3: Midpoint Formula
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Graph and label each quadrilateral with the given vertices. Then determine the most precise name for

each quadrilateral. You may use any tests you want, but you must show all your work!
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